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26.5.9
71la (2rmwn) 2 72a (yw172 377 7793 K177 379 NI957)

I 2t mwn: selling wine to 0"y while avoiding problem of o3 1 07 in payment
a  If: they agreed on a price before measuring the wine — money is 9mn
b But if: he measured first — money is 7708 — has status of 1" "7
II  “Backdoor” discussion regarding validity of n2»wn yip for non-Jew
a ANMNR: N2 MNP NIVN
i Proof: when the Parthians send gifts to each other, they never retract the gift
1 Block (»&x “9): that’s due to their pride, not the validity of the p
b YN 7. NP NPR NDOVN
i Proof: 27's directive to 987’ wine sellers:
1 When you sell: first collect from them before pouring into the flask; if they don’t have money on
hand, make it a loan which the allows for later collection

2 Rationale: if not, it becomes 1 while still in your possession, then when you accept payment — 7
ORI 1

(a) Explanation: if n3wn were valid, it would be his from the moment he took it, although it only
becomes 1" when he touches it (which must be after he picks it up or draws it to himself)
3 block: that would be true if the 581w were pouring into his own o*%3;
(a) but: here, he is pouring in to »n 5 — (Where there is some 1" residue on bottom — 7108 on con-
tact)
(b) rebuttal: in that case, it becomes the property of " when it hits air space of 3, not 1 “til it hits
bottom
(i) explanation: this would only be a problem if we accepted the validity of p1x»1 as 11
(which we don’t)
(c) defense: if » were holding *3 — that would be right; in this case, his 753 is sitting on the ground
(i) explanation: it doesn’t become his until it “hits bottom” of 93
(d) rebuttal: let his *53 be nnp for him, ‘tho it is in the property of the 1511
(i) explanation: does this mean that we rule mp &% 921 MmwIa Mp Y PH? (it’s a dispute in n”1)
(ii) defense: in this case, there is " residue blocking pouring spout; each drop becomes 1
immediately
4 challenge: does this mean that we rule against (:n 1"y) »"aw1 who allowed (in case of nayn) selling
the entire batch of wine to n™3y, less the value of the actual 3?
(a) Defense: the question is about 27’s ruling; 17 ruled like 3”2w1 only when barrels got mixed up,
not wine
5  challenge: ruling that if one buys coins from n"3y and finds 1"y among them
(a) if: he took them before paying — return them
(b) if: he already paid — dispose of the 1"y at nonn o
(i) explanation: if we thinkthat »1»2 nnp n2*wn, how can the YR1w return them (Rw31)
1. answer (»722N): it appears to be a myv npn — he took the coins assuming them to be only coins
a. challenge (827): if so, k90 should also be returnable, as it looks like myv npn
2. answer (827): both are myv npn, but in Ra’Y, since he already paid, appears as 87w’ 772 1”p = TOR
6  challenge(to »wx 77): our mwn - if N2wn (=measuring) isn’t valid, why is the money 1mn?
(a) Answer: in this case, the 03y paid him up front
(i) Block: then why should the money be 710R in the xov?
(ii) Comeback: if nnp na*wn, why the distinction between k2701 Rw*?
1. Rather; (if np n2>wn), by setting a price, there’s reliance (nyT M2°no) on the deal

2. Similarly: (if n»p NYR N2wN), though he already got paid, only with setting price is there
nyT mYn

7 Challenge (?wx 775 82°37): 3.y "1's ruling that a 1”1 is killed for stealing any amount and pawn% jnn 85
(a) Explanation: if we say that n»p n2wn, we see that he made a 11p and for that — he is liable
(i) but if: nnp nYR N>wN, why is he punished?
1. Answer; for his troubling 987w from whom he stole; 17awn’ 10’1 8> means N5 NaVN
doesn’t apply
2. Challenge: but he is also killed if he steals from another m 12
3. Rather: nnp »m1a nwvn - QED
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III Analysis of Halakhic power/impact of pn npoa (agreeing on a price)
a cases: a man declared that if he ever sells his land, it’'ll be to 198
i but:he sold it to another
1 9o» 2719 has rights to the land
2 Challenge (»ax): they hadn’t agreed on a price (0’171 np*oa)
(a) Proof (that 7709 matters): from our mwn
(i) Block: perhaps 11nn npoa is only significant due to Xvmn of 1
(b) Rather: proof (used by ®1on 7 and &30 "1 when they had such cases come before them)
(i) If: buyer brings donkey-drivers and workers, carrying fruit of 1510, into his house
1. Whether or not: they measured before or after setting a price, either side can retract deal
(if) but if: the buyer also unloaded the fruit (i.e. did a p nwyn)
1. if: they already set a price before measuring — neither side may retract
2. but if: they didn’t yet set a price — either side may retract offer
b  case: a man committed that if he would sell his land, it would be to 'a for 100 1
i and:he went and sold it to another for 120 11
ii ~ a275 77 should go to first one
1 Challenge (‘122 7720 373 *7): seller was “coerced” by better offer (nabn)
¢ If: someone commits to sell at a price “as appraised by three”he commits to accept ruling of 2 out of 3
d  But if: he commits to accept price “as stated by 3” — all three must agree for him to be committed
e If: he commits to a price “as appraised by four” — all four must agree
i And certainly: if he said “as stated by four”
f  If: he committed to appraisal of three and after their appraisal, the other states that he wants a different group of 3, who
are more expert, to appraise —
i Ruling (97): the second may prevent the sale from happening until the other 3 come along to appraise
1 Chalelnge (y177 77 77772 82177 7): just because he stated this , will we hold up the deal? Perhaps the first three are
more expert!
2 ruling: accords with »7 1792 80 7 (and the second cannot reject the 1t appraisal)
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